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- ymay 50,0002 * 421 * 1102 22,000
- &Eay 30,0002 * 191 * 2552 7,650
O 2zl 27,300
- A& S2X 7,00021 * 2691 * 1502 27,300
O Ytz 4,620
- SAPDI 220,002 * 122 2,640
- W.oe) HAUAS
15,0009 * 1104 * 128 1,980
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02 23293l 18,928 31,420 A12,492
O 3322 % HA 4,100
- d3e= 200,000& = 12& 2,400
- ALdYSAMER 100,000& * 123 1,200
- ASIHME 28 500,000& = 14 500
O Azl 9,828
- AR4A 1,300& * 124 = 6AI2F » 105 9,828
O Xtz&ey] 5,000
- A8SE 2,000,000& = 1CH 2,000
- UsSs Mg (X022 E)
3,000,000& = 1CH 3,000
202 O4dl 24,000 27,600 23,600
01 =Wodl 24,000 27,600 A3,600
O MEsxsme 2=
20,0002 * 15Q1 = 8 * 102/ 24,000
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M Fegsy
el 23tz Al 2tel (ctel &2
_ _ _ HAT
A -3 -2 (3H) - NRAY - BEZ O AF oK Ofl At ot Hws2
Aelests gt 1,951,304 1,459,085 492,219
23S 1,538,009 1,141,164 396,935
23552 AL2e 1,538,009 1,141,164 396,935
OlRI0IAE 2E2332 =4 1,247,816 719,506 528,310
401 AIEHILROY] 1,247,816 719,506 528,310
01 A& 1,242,816 716,506 526,310
O oeloldg sS&:2sa32t =4 (5,500m)
1,242,816,0009! » 1Al 1,242,816
03 A& 5,000 3,000 2,000
O oeoldzs sg=s32 &4
5,000,0002 * 14| 5,000
=2 AL 132,837 370,280 237,443
201 Bt 26,067 43,150 A 17,083
01 ArR221H] 900 3,650 2,750
O L= 900
- 39 O0t: =8
120,0008! * 3CH = 23] 720
- PUHEZ WS &It
60,0008 * 191 = 33 180
02 232 25,167 39,500 14,333
O AN&EZHIS X 25,167
-A2 1,0008! * 4,867m 4,867
- HRESAY FHEAB(0.58,1€,1.5
£) 1,000,0002 * 3CH 3,000
- &= dSD| sEM2
1,900,0002 * 2CH 3,800
- R ACHE 1,500,000& * 1CH 1,500
- ADAKRUIE A 1,000,000 * 8H 8,000
- &IIANESE 3,000,000 = 14l 3,000
- AHSIOIEQ EYEH|
1,000,00084 * 14| 1,000
202 04l 600 1,250 AB50
01 =2LHoibI 600 1,250 AB50
O 2l d2u= 50,0003 * 321 » 4 600
206 MEHl 12,270 14,480 A2,210
01 M2l 12,270 14,480 A2,210
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O W2er A=H 50,0002 * 162 800
O fYetolERD 200,0002 * 424 800
O grAyD 30,0002 + 5074 1,500
O PAR 2HOIER T 40,0002 * 504 2,000
O 245 (Hl) 20,0008 * 3004 600
O HBYDQ| 42F 500,0008 * 1 500
SNINEE TS 300,0002 * 274 600
O Hu 5,0008 * 2004 1,000
O dlEE 450,008 * 17} 450
O ZRHYD 750,0008 * 194 750
O ZEIWLHOIES 2,650,008 * 141 2,650
401 AlEHIL 2O 72,500 303,000 230,500
01 AIZH] 72,500 303,000 230,500
SREQYT HSAH 19,000,008 * 14 9,000
PUAM HSLHB S TA
19,500,008 * 14! 19,500
O 22XE SHBM 22,000,000 * 14| 22,000
O 24BIZ L A5F DABA
9,000,008 * 141 9,000
O 2 &3 JAHSEX
1,500,008 * 14} 1,500
O 222 NESCHN X
1,500,002 * 14} 1,500
405 Xt St 21,400 8,400 13,000
01 TMUSEFHSY] 21,400 8,400 3,000
O BP0 2,000,000 * 5CH 0,000
O HALEAD] 60,0002 * 1CH 600
O AT 450,00021 * 204 900
O otol=2 400,000 * 2} 800
O sz=2s 8,000,000 *1CH 8,000
O COZl0l0] 1,100,008 * 141 1,100
e AL 157,446 51,378 106,068
I
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42,0008 » 7¢1 % 30 8,820
201 LEHRHH| 27,798 13,268 14,530
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O A& EHIs X 27,798
- 4= 1,000& * 4,838m 4,838
- 2FELLY ststh2 900,000& = 2CH 1,800
- SEAM0A setAl2
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206 TH=Hl 9,828 7,700 2,128
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O HzE & s S 1,000,000& * 23 2,000
O 2delolE 200,000& = 3K 600
O g=zdd8a 30,000& * 5004 1,500
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O SEIXNMS M= 600,000& = 33 1,800
O Zstx=ES2H 67,0003 * 2474 1,608
O &I MM S 500,000& = 23 1,000
401 AIEHIZ=20Y] 100,000 9,260 90,740
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01 AtR2elt] 57,600 68,500 10,900
O Yprg| 7,200
- RSN 2F QU 2ASH M
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- EREsY 120,008 * 5)f 2 * 23] 1,200
- RENHETY 2,000,0008 * 23] 4,000
O 2949 50,400
- YA, 0F2tet)
35,0008 * 2AI2t * 12342 * 603l 50,400
HHSAAH| (AL 253 355,605 246,421 109, 184
ol 2| 113,910 19,200 9,710
ol 2| 113,910 19,200 9,710
ICIESR] 98,910 0 98,910
00 =g 98,910 0 98,910
O NZe2R4Y
745720 « 67TAI2F * 1691 * 128 * 0.75 71,946
O gg2a24+y
56, 17521 * 1091 * 42 +12% 26,964
203 ARFXY| 4,200 5,400 A1,200
04 SNSIGRFA| 4,200 5,400 21,200
O Al2I235H5] 2H(30210] 5t
350,008 * 122 4,200
204 HRLBAY 10,800 13,800 A3,000
EEEEEESED 1,800 1,800 0
O 2z 50,0008 * 191 * 128 1,800
03 SHYLLSH| 9,000 12,000 23,000
O teEsy| 50,0002 * 1591 * 12® 9,000
SR 241,695 227,221 14,474
II2FE (22) 134,861 125,858 9,003
201 L2yl 117,861 111,858 6,003
01 AFR2elt] 48,836 28,026 20,810
O Yst2H| 29,344
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SN -ZH-CA(ZH) - MM - BES At ol a4 Hlw &2
- o= T * . =5 * ds =5 O:H/LF% Lsa
- HIMNRES 250,000& = 128 3,000
- S| 2ot 2= EAE 2,000& * 1,000% 2,000
- e 1,000,000& * 14 1,000
- NEASEZ 12,0008 * 6% * 12& 864
- 3AEE 150,000& * 12& 1,800
SN ECT-PE-1- 8,500,0002 * 13 8,500
S AAIEEY GELsE
400,000& * 12& 4,800
- dojotE e =2 S
500,000& » 12& 6,000
- RoETIIAHES 115,000& * 123 1,380
O 29=¢ 8,050
- &Y 50,000& * 121 = 110 5,500
- e 10,000 * 1Q! » 255 2,550
O =%l 8,400
- AESA Y ZOINE
7,0008 * 102! = 10 = 123 8,400
O xt 3,042
- Zglgl 110,000& = 2CH » 128 2,640
- W) 33,500 * 1CH = 12& 402
3322l 69,025 83,832 A 14,807
O 3322 % HA 55,750
-&II23 2,500,000& = 12& 30,000
- &3 50,000& * 12& 600
- otz 200,000& = 12& 2,400
- ISRYRES 2,500,000& * 14 2,500
- BEMERL S (AA, XH)
100,000& * 23| 200
- 2ENHEEH 350,000& * 12| 350
- EAMARE 18,000,000& * 14 18,000
- JxE LR 900,000& * 12| 900
- N2 400,000& * 23 800
O A& Z IS Xl 2,400
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Sl Jl2 | (51 &2
_ _ _ Muo
SN EB - SRA(3) - MRAY - BES 0 & 24 e HRE2
- EHOIX RA2e 2,400,000% * 11 2,400
O ezl 7,875
- 22) ASK® 15002 * 504+ 1052 7,875
O Rzl 3,000
- sEEuENY 3,000,0008 * 1& 3,000
202 01l 2,000 14,000 A2,000
01 =Loit] 12,000 14,000 2,000
O sl ge=z
20,0002 * 1091 * 52 + 122 2,000
405 THEF S| 5,000 0 5,000
01 XHAYLSEFHSH] 5,000 0 5,000
O 2HHED ,000,000%! * 1k 1,000
O AR 212208 FII 4,000,008 * 14 4,000
e (Le =) 106,834 101,363 5,471
201 syl 98,034 92,363 5,671
01 AfRaelt] 34,704 14,056 20,648
O o8| 25,284
- HA8E 150,002 + 122 1,800
- HEANQERE 10,0008 + 122 1,200
- Ne2asE 12,0008 * 4% * 128 576
- spEL 89 4,000,0002! * 13l 4,000
- AWAEFE B2
550,008 * 122 6,600
- ®olorE B Q@SSR
712,008 * 122 8,544
- RUHTIIH B 139,508 + 122 1,674
- ®IIXOIE Y FHIIBALEEE
890,008 * 13| 890
O 2zl 4,200
- A 2 BN
7,0008 * 501 * 102 * 22 4,200
O Yxtz 5,220
- ZRIE) 10,0008 = 1CH * 122 1,320
- = AD 220,008 * 104 * 128 2,640
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VRS 35,0002 » 304 * 122 1,260
02 ==29gHl 63,330 78,307 AN14,977
O Zzez ¥ WAl 44,430
- &JIe3 3,300,000& = 12& 39,600
- Hot=ER23 200,000& = 12& 2,400
- d3 X AR 550,000& = 13l 550
- YHASE =8 180,000& * 63l 1,080
- MA=xdrs2 400,000& * 23] 800
O A=l 18,900
- BoF AR
1,500& » 60 £ » 105 * 2CH 18,900
202 o1t 8,400 9,000 600
01 SLHAHHI 8,400 9,000 A600
O 32 g2z
20,0003 = 5¢! » 5& » 123 6,000
O NE & BARY H24F
50,000& * 221 = 23| » 128 2,400
405 THEFH S 400 0 400
01 ML =SSHSEH| 400 0 400
O AIRE2Tt 100,000& = 474 400
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A 2 (S H) - MEAMY - BHS e lOﬁ/l\_Fo” HusZ
P A 574,928 776,300 A201,372
x4 448,409 324,550 123,859
ot=& 29 448,409 324,550 123,859
3 2tel 279,409 101,550 177,859
ol 24| 27,920 28,200 A 280
10 JIZHI2ZXNSE+ 27,920 28,200 A 280
EH RN 22| oF
52,000€ * 501 40 10,400
HMIHE 2EA 34,000& = 1201 * 40 16,320
HMOHE CHE QP ISH|
120,000& * 109! 1,200
Bt AH| 106,889 64,350 42,539
222 18,940 15,500 3,440
Aot =Z | 17,740
SESEA A2E2E P
200,000& * 12& 2,400
HMIE 2H =82 8 HE
1,000& * 2,0000H 2,000
QA ME(HOHE, =XE)
300& * 5,0000H * 3= 4,500
Auto Cad Z218 ¢l
2,000,000& * 1JH 2,000
=S8 20 HAE
80,000& = 10004 * 13 800
220/ otUHE Mz 100,000& * 1094 1,000
HIIHNMEH =5 170,000& * 122 2,040
POIMAIIHBH 29 &
250,000& * 12& 3,000
O dxtz 1,200
- MY HREFL L SRAFH UL
400,000 * 3CH * 13 1,200
3294 87,949 48,850 39,099
O Z2Z22=2 % HMA 55,700
- FXE 0| SHi A Y B2
4,000,000& * 13 4,000
- N H4 222 1,800,000& =* 23| 3,600
- d3lx HA =2 300,000& * 13D| 3,900
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Mol 2EFATH X4
o9l: BN EI0IZR 29 (B9 @
_ _ HEC
N-E3H - E2(3H) - MRAY - BdS &hoh Ol At oH Hws2
N EENEEETPETEEEEIEES
AL HS ,000,0002! * 13l 1,000
- sue3z 10,0008 * 122 1,200
- ®Ilea 2,500,0002 * 128 30,000
- 253 1,000,008 * 122 12,000
O ezl 17,378
- BYy 1,30020 * 404 * 1052 5,460
- 22)| 1,3008 * 154 % 504 * 1052 10,238
- MY s 1,30020 * 154+ 402 780
- MO FaD) 1,5002 * 154 % 402 900
O N&ZHIRYI 14,871
- A= 3,000% * 4,957 14,871
202 OiHl 4,800 6,000 A1,200
01 =Uhoi| 4,800 6,000 A1,200
O HIOIZY x4
20,0002 * 491 + 53| * 122 4,800
206 Mzl 4,800 3,000 1,800
EETI 4,800 3,000 1,800
O I8 BSAMS 150,008 * 128 1,800
O BR+S2IS AE(MEM, 450 S
) 10,0008 * 100 1,000
O ZA+=22IS HIE 10,0008 * 200 2,000
401 Al&HI L2 135,000 0 135,000
01 A&H] 135,000 0 135,000
O ZA+2FX 10,0008 * 502 5,000
D=7 2 30,000,0009 * 11 30,000
HAHE B A 100,000,00021 * 14} 100,000
OO Qs 2208 29 19,000 28,000 A9,000
202 OiHl 4,000 4,000 0
01 =Uord 4,000 4,000 0
O HAW @2 yRAS
50,0008 * 421 * 203l 4,000
307 eI2t0lH 15,000 24,000 £9,000
04 SIZHARE 15,000 24,000 29,000
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Hy: 25EADY X4
Erol: HEA HOIZR 29 (Er9): & 2
_ _ _ Muo
SH-EH . S2(3) - MBAY - B2 0f Ak o4 0] At o8 Hlus2
SESETTIE 2,500,0008 * 23l 5,000
O BHZ4 BAE IR
10,000,008 * 13| 10,000
AL MHZ Y 150,000 0 150,000
401 AIEHIZ =20 150,000 0 150,000
01 Al&HI 150,000 0 150,000
O AYMHR x4 150,000,0008 * 14! 150,000
e (S &2lAgA) 126,519 187,271 A60,752
] 71,049 19,200 51,849
24 71,049 19,200 51,849
Q124 d| 60,249 0 60,249
2g 60,249 0 60,249
O Ae2Rsg
7,457 * 67AIZE % 1121 * 128 * 0.75 49,463
O gyaesy
56,175% * 201 = 8 * 12& 10,786
HRF4 3,000 3,600 A600
e TS 3,000 3,600 2600
O ZABEIALA (1521 015t
250,008 * 122 3,000
NR=HHH| 7,800 15,600 A7,800
AUSH R A 1,800 1,800 0
O 4% 150,000& = 12! * 12& 1,800
SRS 6,000 13,800 A7,800
CEIEE 50,0002 * 109! * 122 6,000
55,470 168,071 A 112,601
=34 55,470 168,071 A 112,601
L2 A 50,670 162,671 A 112,001
At 22l | 36,650 43,974 AT,324
SRR 4,920
- A28 300,008 * 122 3,600
- TVl & 60,000& * 12E 720
-ue3ss 50,0008 * 128 600
O =gl 7,392
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7,000& * 1121 = 8 * 12& 7,392
5,688
220,000& = 104 = 12& 2,640
110,000& = 2CH ~ 12& 2,640
34,000 * 1CH = 128 408
18,650
50,000& = 110 5,500
13,150
30,000& * 255 7,650
50,000& = 110 5,500

14,020 118,697 AN 104,677
O 3322 3,020
400,000& = 3CH = 13 1,200

2(ANSKAS)

500,000& * 23] 1,000
400,000& = 13 400
1,750&3 * 20& *~ 12& 420
11,000
5,000,000& * 1CH 5,000
3,000,000 = 1CH 3,000
3,000,000& * 1CH 3,000

4,800 4,800 0

4,800 4,800 0

by

20,000& * 4021 x 53| x 12& 4,800
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SA - SRAEA) - MM - BES Off & K Ofl At ot Hws2
S=aa 488,280 355,424 132,856
YSEAYL 2Y 185,110 184,058 1,052
s el 185,110 184,058 1,082
ngsSs el 97,620 142,108 £44,488
201 Ler2 | 77,580 115,908 £38,328
01 AtR2elt] 66, 180 107,380 A41,200
O YergH| 66, 180
- ASHSEMAI(33S) 4002 * 50,0000 20,000
- ALIIHSZHA(135)
300¢! * 20,0000H 6,000
- 3 S=N REE2DXA
80,0002 * 20084 A 16,000
- x| 2l2s 7Y
20,0002 * 8CH * 474 * 122 7,680
- 2HEIIBNS 7Y
10,0008 * 158 1,500
- ASHSES bl
5002l * 20,0000 10,000
- ANYSE BT M
10,0009 * 5005 5,000
2 ZT2YH 11,400 8,528 2,872
O ezt 4,200
- ARA L
1,00020 * 104 * 1052 * 4CH 4,200
O AN&ZFHIRXbI 7,200
- NSH UE L HH TR0 22
3,600,008 * 24! 7,200
202 Ol 9,600 5,800 3,800
01 =Uofdl 9,600 5,800 3,800
O S=i¥ X (AL HI, HDXS)
20,0002 * 521 * 8 * 122 9,600
401 AlEHI L2 10,440 20,400 £9,960
01 AIZH] 10,440 20,400 9,960
O YASE X 8702 = 1,00004 * 128 10,440
ASVENE I+5E8 87,490 41,950 45,540
201 L2yl 23,880 9,900 13,980
01 AfRaelt] 20,880 9,900 10,980
O Yur2g| 20,880
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150,000 * 28fA » 122 3,600
- MEDEHE SSEDNN(S)
32,0009 * 524 *12% 7,920
- 2BV DNNS MA(6F)
130,000 * 684 * 122 9,360
;2 T2 3,000 0 3,000
O N&BHISALI 3,000
- DETYUEIIS BEARBE FAIID]
zel 1,500,008 * 24 3,000
202 o1t 13,440 19,200 75,760
01 =UofHl 13,440 19,200 5,760
O MLBEHD F4=2Ew
20,0008 * 821 * 72 * 122 13,440
405 RAHFHSH] 50, 170 2,850 37,320
01 RMUSBFHSY] 50, 170 12,850 37,320
O NEX HEE IS ()
13,000,0002 * 1cH 13,000
O MPE FHS HSA ALY
37,170,008 * 141 37,170
HHSARY (HBSZAIYL) 30, 170 71,366 131,804
o2y 137,318 29,796 107,522
T 137,318 29,796 107,522
101 oIty 107,918 0 107,918
2 +g 107,918 0 107,918
O Nztlaesg
7,457 % 6TAIZE * 2491 128 % 0.75 107,918
203 YREIY| 4,200 4,200 0
04 FNEILRZIY| 4,200 4,200 0
O MFSZAI£(30210/5H)
350,0008 * 122 4,200
204 HessAH| 25,200 22,800 2,400
01 HEI LAY 1,800 1,800 0
O 43 50,0002 * 101 122 1,800
03 SZYRLHBSH| 23,400 21,000 2,400
O HelEst 50,0008 * 2321 * 128 13,800
O Negg 100,000 * 891 128 9,600
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HIIZAeHY S E =3
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- & 2 SHes 300,000& = 12& 3,600
405 THAHHE SHI 1,500 0 1,500
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- 64 -




0k 0

D SMETHAIZZ A A
D SHEEAE 29

o T o

D SOHAIE 2Z e

o Touw

S - HHM .G (FH) - NBEAY - BA2 HEE Hn=2
- o= T * . =5 * ds O:H/LF% Lsa
SOHAIE 22l AP A& 734,412 315,399 419,013
S HAE 29 602,399 236,158 366, 241
ANE 22 100, 159 235,318 A 135,159
HAIE 292 70,159 54,770 15,389
201 L3 58,599 42,970 15,629
01 AtE2teldl 21,020 18,120 2,900
O get==ZHl 8,600
- s&E Hel SHEL gt
12,0002 * 3003 3,600
- g8 & 1,200,000& 13l 1,200
- ANEEE 8% 150,0002 = 2J§ * 6& 1,800
- RSTAN s ML
10,000& = 1003 * 23] 2,000
O eg+g 3,180
- NEBEI2YoAs +g
70,000& * 1721 * 23| 2,380
- RSTAHAN T MY
400,000& * 23] 800
O =l 9,240
- AEAN NE S weEw
70002 * 1101 * 102 * 122 9,240
02 =229l 27,579 24,850 2,729
O A& ZEHIRX b 27,579
- SHOIX 22 150,000& * 12& 1,800
- SH2 HAEZBAIAE 22
500,000& » 128 6,000
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202 O4Hl 10,560 10,800 A 240
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SN SMSCUHAIZRRIALA
M SASCHHAE 29
Sl SOHAE 22 2 H)
_ _ _ Muo
SNBSS - MRAY - BAS Aboy i 2
01 =Loit] 10,560 10,800 2240
O R+s42 +2 =1
20,0002 * 1191 * 43| + 122 10,560
206 THEH| 1,000 1,000 0
T 1,000 1,000 0
O ®I L 28TE ,000,0002 * 11 1,000
SOHAIE A& HY) 30,000 174,008 A 144,008
401 AlEHI L2 30,000 174,008 A 144,008
01 Al&H] 30,000 174,008 A 144,008
O AN 22 2,000,0008 * 54 10,000
O CCTV & x| 20,000,0002! * 14! 20,000
SOHAIE A& 502,240 840 501,400
SOHAIE A= 502,240 840 501,400
201 Lur2 Yyl 2,240 840 1,400
01 AFRzelt] 2,240 840 1,400
O 2949 2,240
- N2 BB S
70,0002 * 821 * 43| 2,240
401 AlEHIL 2O 500,000 0 500,000
01 Al&H] 500,000 0 500,000
O SHHAIE SZ(2SE)
500,000,008 * 14} 500,000
HHL AL (SASTHAIZR2IAL L) 132,013 79,241 52,772
o1z 2| 60,263 10,800 49,463
22| 60,263 10,800 49,463
101 Q12| 49,463 0 49,463
00 g 49,463 0 49,463
O ANZe2R4Y
74572 « 67TAI2F % 1191 » 128 * 0.75 49,463
203 ARFXY| 3,000 3,000 0
04 SNSYALRETY| 3,000 3,000 0
O SASTOHAIZ 22 AR 2 (1501015t)
250,000%! * 122 3,000
204 HRLHAY 7,800 7,800 0
NIEEEEEESET 1,800 1,800 0
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EAN: SCSTOHAZZEIAN A
M HE2HTH (SMSZOHAIZZEIAIE L)
&Rl el 2| (ctel &2
SA - EH O (SIH) - MRAY - BAS 01l a4 b HRS2
O &% 150,000& = 12! * 122 1,800
03 SEYR-H S| 6,000 6,000 0
O tHelgsl 50,000& * 10Q! = 12& 6,000
Jl=&Hl 71,750 68,441 3,309
Jl=&Hl 71,750 68,441 3,309
201 LEH23H] 71,750 68,441 3,309
01 Atf2teld 36,350 21,630 14,720
O get=ZH| 13,860
-ANREZ S 2E=2EF #¥
300,000& = 12& 3,600
- OHHEAT A== 680,000& = 123 8,160
-2 EA REE 100,000& = 12& 1,200
- 228 @374 100,000& * 3& * 33l 900
O 284 18,650
- LYARG 50,000& * 1@l = 110 5,500
- =RACH 13,150
2 30,000& * 101 = 2559 7,650
E.-35g 50,000& * 12! = 110 5,500
O 1=l 1,200
- H33E 300,000& = 221 * 23] 1,200
O gxz 2,640
- =AM 220,000& * 1CH = 12& 2,640
02 =224 35,400 46,811 A11,41
O 3322 % HA 19,800
- NI 500,000& * 12& 6,000
- H4ot=ER23 200,000& = 123 2,400
- H3e= 150,000& = 12& 1,800
- WERYRES 5,000,000& * 14 5,000
- AN RE = 4,600,000& = 14 4,600
O A=l 12,600
- B &7
1,500& * 104 = 8AI2+ = 105 12,600

- 67 -




8!
K
OF
uJ

SIA &)

SMSTOHAIE2

(

COHAIE 2tel AP A

e

n0

KIo

81w

H3r
uiled!
pak=

=
(o]

-

<J

3,000

3,000

ol
XJ
0

3,000,000& * 1CH

=Xl

n0
[
o
ol

B0
<

- 68 -





